VUS: 25

Results
acknowledged?

Y: 21 N: 4
Med Med
chg? chg?

Y:3 N:18 Y:0 N: 4

Placed on Na
channel blocker
in subsequent
visits?

Placed on Na
channel blocker
in subsequent
visits?

Y: 6 N: 15

SCN1A:
43

LP: 6

Results
acknowledged?

Y: 6 N: O

Med
chg?

Y:1 N:5

Placed on Na
channel blocker
in subsequent
visits?

Y:2 N:2Y:3 N:3

TOTAL PATIENTS:

P:12

Results
acknowledged?

Y: 10*

Med
chg?

N: 2**

Med
chg?

Y:6 N:3 Y:0 N:1

Placed on Na
channel blocker
in subsequent
visits?

Y:0 N:9

Placed on Na
channel blocker
in subsequent
visits?

Y:1 N:0

49

VUS: 4

Results
acknowledged?

Y: 4 N: 0O

Med
chg?

Y:1 N:3

Placed on Na
channel blocker
in subsequent
visits?

Y:3 N:1

SCNS8A:

LP: 2 P:0
Results
acknowledged?

Y: 2 N: 0

Med
chg?

Y:2 N:0

Placed on Na
channel blocker
in subsequent
visits?

Y:2 N:0

VUS = variant of unknown significance
LP = likely pathogenic variant

P = pathogenic variant

* 1 patient lost to follow-up

** 1 patient lost to follow-up



